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1. A cell phone company has a fixed cost of  $1,000,000 per month and a variable cost of $20 per month per subscriber. The company charges $29.95 per month to its cell phone customers.
a).  What is the breakeven point for this company?

b). The company currently has 95000 subscribers and proposes to raise its monthly fees to 39.95 to cover add-on features such as text messaging, song downloads, game playing, and video watching. What is the new breakeven point if the variable cost increases to $25 per customer per month?

c). if 20,000 subscribers will drop their service because of the monthly fee increase in Part b) , will the company still be profitable?
2.       It is estimated that a certain piece of equipment   can save $22000 per year in labor and materials cost. The equipment has an expected life of five years and no market value. If the company must earn a 15% annual return on such investments, how much could be justified now for the purchase of this piece of equipment? Draw a cash flow diagram from the company’s view point.
3. An electronics manufacturing company is planning to introduce a new product in the market. The best competitor sells a similar product in the market  at $420/unit. Other pertinent data are as follows: 
Direct Labor cost: $15/hour

Factory overhead: 12% of direct labor 

Production materials: $300/unit

Packaging costs: 20% of direct labor

It has been found that an 85% learning curve applies to the labor required. The time to complete the first unit has been estimated to be 5.26 hours. The company decides to use the time required to complete the 20th unit as standard for cost estimation purpose. The profit margin is based on the total manufacturing costs.

a) Using the information given, determine the maximum profit margin that the company can have so as to remain competitive.

b) If the company desires a profit margin of 15%, can the target cost be achieved? If not suggest two ways in which the target cost can be achieved.

